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2sinAcosA+2sinBcosB + 2sinCcosC <sinA +sinB +sinC. 4)
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sin2A4 +sin2B +sin2C < sinA +sinB +sinC. (5)
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cosA o HHIL > FAMF 2]

cosC < cos B < cos A. (7
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sinA < sinB <sinC, (8)
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sinAd < sinB <sinC,
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Si =Xy F X Yo+t XY
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A EXER > HAEEA TS =315
X, =sind,x, =sinB,x3 = sinC,
y, =cosC,y, =cosB,y; = cos4,
FFE BB 2= (7), @M =0 > HIATE T
sinC cosC + sinBcosB + sinAcosA < sinB cosC + sinA cos B + sin C cos 4,
sinC cosC + sinBcosB + sinAcosA < sinAcosC + sinC cos B + sin B cos 4,
Hrp ERECE B AT ERYERY] o o3 BR PR 1,2,3 BHEF] 2,1,3 & 1,3,2  fF A =04
i - AR AN A o 2R 4 A HE 1S
2sinAcosA + 2sinBcosB + 2sinC cosC
< (sinBcosC + sinC cos B) + (sin C cos A + sin A cos C)
+ (sinA4 cos B + sin B cos A) = sin(B + C) + sin(C + A) +sin(A + B)
= sin(r — A) + sin(r — B) + sin(m — C) = sinA + sinB + sinC,
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A ER (DRI - FIEHE &P A dr IMO 58 1964/2 i » LA 48
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xy < zx < yz.
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zZxy+yzx+x-yz<x-xy+z-zx+y-yz
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a(s—a)+b(s—b)+c(s—c) =§(2bc+20a+2ab—a2—b2—cz)
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-17-



FERT A F 4688 ¢ EARFIZ &S5

H ()R IE a*, b P Bl s — ¢, s — b, s — a i5 [ i 8 Jk A3 B A o H P 3 B AR R
BLEEFT - FRMIAf &

a*(s —a) + b*(s — b) + c*(s — ¢) < a*(s — b) + bA(s — ¢) + c*(s — a), (14)
a’(s — a) + b*(s = b) + c*(s — ¢) S a’(s — ¢) + b*(s —a) + ¢*(s = b), (15)
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(s—b)+(s—c)=a (s—c)+(s—a)=b, (s—a)+(s—b)=c,
RIS [(14) + (19)] +21% > 745

a*(s—a)+b*(s—b)+ct(s—c) < %(a“l + AL 4 ), (16)
EHERA2)A Y fila, b, o) ATHLE
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1
a2+b2+c2—bc—ca—ab=§(2a2+2b2+2¢:2—2bc—2ca—2ab)

= %[(a —b)?+(@a-b)?+(a-b)?=0, (18)
HILH a® +b*+c? 2 bc+ca+ab - FTLIER - 35 5e 5018 (12)Z0p 17 - Al o] F1) 5% =0 245
1 1
az(s—a)+b2(s—b)+cz(s—c)SE(bc+ca+ab)Sz(a2+b2+cz),
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az(s—a)+b2(s—b)+c2(s—c)S%(a3+b3+c3). (19)
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1
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